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the candidates to read the
question paper.
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All questions are compulsory.

Question No. 1 is Multiple Choice
Type with four options for each
part. Choose the correct option
and write in the answer-book.
Question Nos. 2 to 6 are Very
Short Answer Type to be
answered In a maximum of
10 words each. Question Nos. 7
to 11 are Short Answer Type to
be answered in a maximum of
100 words each and Question
Nos. 12 to 14 are Long Answer
Type which are to be answered in

a maximum of 300 words each.

Marks allotted to the gquestions

are mentioned against them,
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1. Choose and write the correct answers of

the

following questions in your answer-

book :

a)

b)
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Flood causes which of the followiﬁg
losses ?

1}  Human life & pets

i) Houses '

i) Crops . .

iv) All of these. 1

‘Which problem can be solved by
'Family Planning ?

i)  Population control

i) Increase 1in the rate of
development of country

iiif Decrease in the rate of child
mortality

iv) All of these. o 1
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How will you identify the personality
of a person ?

i)

ii)

iii)

iv)

The natural merits of the

person

The external merits of the

person

Both internal and external
merits of person

None of these. 1

Changes in family structure are

Disintegration of joint family

The size of family becoming

- small
Decrease in traditional
functions of family
All of these. 1

Mother’s milk 1is useful for an
infant, because

1)
i)
i)

1v)

It has the capacity of fighting
against diseases

all nutrig:r;ts are found in it
it is digested soon

all of these. 1
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( Very Short Answer Type Questions )
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What are the advantages of making
budget to a housewife ? 1
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How should the clothes of an infant bé

selected 7 https:,f_fwww.upboardoﬂlhe.com' 1
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What 1is the economic function .of
family ? 1
TSRl WEHR § U GIET ¥G FA Snded
FA € ? 1

What do girls expect from Government
for their protection ? 1

?Fwaii?wmﬁmﬁfﬁﬂnﬁr%ﬂiaﬁﬁxﬁﬁﬁ%'? 1

How does social disparity originate in the
society 7 1
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( Short Answer Type Questions )
A HeFT0] GST & T F © 2 2

tions of Child W
Organisation ? elfare

gREar & = favean fafan |
Write the four characteristics of family.
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Write the harms of dowry system.

Explain the method of weaning.
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13.

13.

14.

14.

“Fhe functions ©Of heredity and

environment are important in ‘the
developrnent of child personality.” Clarify

this statement with examples. 5
OR

Describe the . legal and
qualifications of marriage.
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What are the causes of Maladjustment in

marriage ? How can these problems_be

solved ? Explain. T 3+2
OR

‘Family is the first school of

socialization." Support this statement. S
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What is meant by frustration ? Write the

causes and preventive measures 0f
2+3

frustration.
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